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(1) log,(15) +log, (20) e@e» Oged

(a) 90 (b) 30 (c) 10 (d) 20

pexp”
(2) 54— o dyed

pxp

@ p° by p° © p' @ p*
(3) If ! 7:£+ B + ¢ > o8 4,Be C goed

x(x+1)” x x+l (x+1)
(a)d=1, B=-1,C=-1 (b)y A=-1, B=-1,C=-1
(¢) A=-1,B=1,C=1 (d) 4=1 B=1,C=1

(4) log,(x)=1 o8 x e gowo dged
@) 9 (b) 27 () 87 (d) 81

(5) X +px+1=0 @@ o, Po® ¢ P2<4p€ER &8 ¢
(@) a, oo & god a+f=-p, 00 af=1
(b) a, B &-B0g0 B g0 affi=1,a+pf=p
(©) o, O O g af=1 a+f=p
(d) o, B B0 & gd a+pf=-p, 0 af =1



(6) x*+px+1=0 Qe ae P o8 e %em B

(04
(a) 2x* —x(p*-2)-1=0 (b) ¥’ —x(p*-2)-1=0
(©) x2+x(p2-2)+1=0 (d) xz—x(p2—2)+1:0

(7) px*+qx+r=0 odnoed Qe oo od ooz swusre dged

(@) a+,b’:% (b) &’ +p=¢*> —2pr
I 1 - _p_ 4
© ;+E— r (A a-p 2p

8) (1+3x)" emozwed x=—31— 80 easien Dvwens SuEDE een el

@ 7 () I ©7 (d) 7
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9 (x2+l) SI0MEeE x° G Sl @B
X

(a) 180 (b) 360 (c) 120 (d)210

(10) (1+i)2 0B ©oREd RO PWOD OB
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@ [ g 2] ) ( d 2]
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© ( . 6) () ( g 4j
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0| “P(z)
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(12) (x2+x+1)(x2+1)>0 =3
(a) —l<xe® O0<x<l

(c) Bed® ontide , OCs)

1—tan®2x
13) —————— @ Oxed
( )1+tan22x 2

(a) sindx (b) cos4x

(14) tanf =t@ cot3ld oD» dxecdd

1+£ 1-3¢7
a b
@) 3 -3t ®) 3t—1
1
13) cosf=— 08wmogned 0° & 90°
() N
(a) 60° (b) 45°

sin(x+8x)—sinx
ox

(a) sinx (b) cosx

0o 3]

(17) y=2* &8 P _
dx
(a) x2* (b) 21n|x|
(18) x=at’ ©® y=2at®d® E’J—i:
dx
1 -1
(a) p (b) —

t

o(z) P(z)

(d)

(b) 0<x<l

(d) X<-land x>1

(c) tandx (d) sec4x
1+3¢° 1-3¢°

C d

© -1 @ 3t+1

a0 deoc® dned

(c) 120° (d) 135°
(c) —sinx (d) —cosx
(c) xIn2 (d) 2°In2
(o) t (d) -t
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X
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(@) -2 (b) - © = @ =
y X y 2a
2 ) dy
(20) y = cos*x + sin’x &8 —=
dx
(a) secx (b) tan x () 0 (d) 2tan xsecx
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1
(22) (tl,l] e (rz,t—) QEEB®E @O LD E6 dxneds
t 2

1

(@) l(ll _[z)(tx +[2) (b) |(t1 +t2)
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23) (a0) e (0,0) eress owosn LPOD EBum LMOD GYPE® dHed

a b a b
(a) ) (b) - (© 3 (d)‘;

(24) (43) o® (a,b) EEEsL EPOD MO GuELH® 2 &I
(@) 2a-b=5 (b) a=2b=5 (c) 2a+b=5 (d) a+2b=5

(25) ax+by—c=0 DO CEI® § ¢, YR EFEs HOH I g¢ BOR eOVed
OOt DHec :
(a) ax+by=0 () bx—ay=0 (¢) 2ax+by=0 (d) ax-by+c=0

(26) (cosa,sina) @rese ®om cden g qaEeew 1 8¢ ©OQ cbMed VO

RIDCH)
(a) y=xcosa+sina (b) y=xsina —cos«
(¢) y=x+cosa+sina (d) y=x+sina —cosa

27 \/§x—y—1:0 o® x—x/§y+1=0 b gmd QEEWIFNG BYEU
(a) 30° (b) 60° (c) 45° (d) 90°




28) x*+y*+2x+y—4=00afo0 (L2) eresced 80 qit debowed §» dged

@ 5 (b) V6 N7 @) V11

29) x> +y?—2x-2y+1=0 Dadmed edslen @ qow dged

(a) (1,1) eosl (b) (—1,——1) oo | (©) (1,—1) o 1 (d) (_1’1) oo 1
2x
30) y= SO0 gurs O%ecd
1+x°
(a) x=-1 o® x=1 (b) x=1 @5 x=0
(c) x=—1 @®» x=0 (d) 00 gowrsl eamn@ie.
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The Open University of Sri Lanka

Foundation Course in Science — Level 01

Final Examination 2014/2015

MAF 1301/MAE 1301 — Pure Mathematics Paper I

Duration: - One and half Hours.

Date :- 19-11-2015 Time :- 1.30p.m. - 3.00p.m.

Answer All Questions.

For each question there are Four suggested answers labeled (a), (b), (c) and (d). When you

have selected your answer to a question, draw a cross (x) on the letter for the answer you

have chosen in the Separate Answer Sheet provided.
Mark one by one answer for each question on the separate answer sheet.
Where necessary do all computations on the question paper.

When you have finished answering, please attach your answer sheet at the top of this question
paper. Only the answers mark on the Answer Sheet will be considered for evaluation.

(1) The value of log,(15)+log,, (20) is

(a) 90 (b) 30 (¢) 10 (d) 20
-2 -4
2) —‘03—X—}2_7 is equal to
pxp
@ p’ b p° © p° @ p*
3 It ! 2=i{i+ B + ¢ > then the values of 4,Band C are
x(x+1)  x x+1 (x+1)
(@A=1,B=-1,C=—1 (b) A=-1,B=-1,C=~1
(c) A=-1,B=1,C=1 d A4=1B=1,C=1

(4) If log, (x) =1 then the value of x is
@ 9 ) 27 (©) 87 () 81

(5) If a, B are the roots of the equation x* + px+1=0 and p’ <4;pe R
(@) a,Barerealand a+B=-p, aff=1
(b) o, B are complexand aff=1, a+pB=p
(c)a,Barereal and e¢ff=1, a+pB=p _
(d) o, Bare complex and o+ fB=-p, aff =1

1




(6) The roots of the equation x* + px+1=0 are a and B. Then the equation whose roots

are g and ﬁ is
(24
@ 2% -x(p* -2)-1=0 (b) x* —x(p*=2)-1=0
(© x*+x(p*-2)+1=0 (d) x*-x(p*-2)+1=0

(7) If a and B are the roots of the equation px*+gx+r =0, which is the correct answer

(a)aw:% (b) &’ + 2 =g*~2pr
1.1 | a4
© 5= @ a-p=3

(8) Numerically largest term of the expansion (1+3x)10 when x = % is

(@7 (b) 75 OF (d) T

10
(9) In the expansion of (xz +—1—J coefficient of the term including x® is
x

(a) 180 (b) 360 (c) 120 (d)210

(10) The polar form of the complex number (1+ i)2 is
(@) 2(cos—§+isin%] (b) 2(cos§—isin%j

(© 2(cos£+isin£j (d) 2 cos£+isin£)
6 6 4 4

(11) If p(z) is any complex number represented in the Argand diagram, the number

Q(E) is correctly represented by, where z is the conjugate complex number of z.

Y

Y, A
\ P(2) » P(z)

v
x
v
x




©

(12)If (x* +x+1)(x* +1)> 0 then
(a) -1<x and O<x<1
(¢) For all real values of x
l1-tan®2x .

13) ————— isequal to
( )1+tan22x 9

(a) sindx (b) cosdx

(14) If tan@ =t then cot36 is equal to

1+ 1-3¢
a b
()3t3—3t ) 3t -1
(15) Solution of the equations cos & =

(a) 607 (b) 45°

sin(x +6x)—sinx
ox

(a) sinx (b) cosx

o]

dy
INIf y=2* then ==
ANIf y T

(a) x2*7 (b) 2In|x]

(18)If x=ar® and y=2at then %=

X

1

} is equal to

0(z) P(z)

A 4

(b)) 0<x<1
(d) *<—1and x>1

(c) tan4dx (d) secdx
1+ 3¢ 1-3¢

c d

© 31 @ 3411

between 0° and 90° is

() 120° (d) 135°

(c) —sinx (d) —cosx

(¢) xIn2 (d) 2"In2




@ﬁ o= © ¢ @ -

(19) If x> +y* =ad” then P
dx

(@) - ) -2 (©) =2 ) X
y X 2a

(20)If y=Co s> x + Sin*x then —Z—X =
x

(a) secx (b) tanx ()0 (d) 2tan xsec x

(21) The gradient of the line joining (1,5) and (3,—4) is

9 9 9a 9a
(@) —"2“ (b) 5 () ’“‘2— (d ‘2—

(22) The length of the line joining (ll,%J and [ZZ,%J is

1 2

(@) ’(ﬁ _tz)(t1 +t2)| (b) Ktl +t2)|
© |(r,~1,)| (@ |t -5,) 1+ 18,

(23) The gradient of the line perpendicular to the line joining (@,0) and (0,5) is
a b a b

(@ - () — (©) —— (d)-—

2 a b a

(24) The line joining (4,3) and (a,b) is gradient 2 then
(@) 2a—-b=5 (b) a-2b=5 (c) 2a+b=5 (d) a+2b=5

(25) The equation of the line through the origin and perpendicular to ax + by —c =0 is
(@) ax+by=0 () bx—ay=0 (c) 2ax+by=0 - (d) ax—by+c=0

(26) The equation of the line with gradient 1 and passing through the point (cos a,sin a) is
(a) y=xcosa+sina (b) y=xsina —cos«a
(¢) y=x+cosa+sina (d) y=x+sina—cosa

(27) The acute angle between two lines N y—1=0 and x- NE) y+1=0is

4



(a) 30° (b) 60° () 45° () 90°

(28) The length of the tangent from (1,2) to the circle x* + y* +2x+y-4=0 is

(a) /5 (b) V6 ©7 @ Vi1

(29) The centre and the radius of the circle x> + y° —2x—2y+1=0 are
(a) (1,1) and 1 (® (-L-1)and1  (¢) (1,-1) and 1 (d) (-1,1) and 1

(30) The stationary values of y = | 2 > are
+x
(@) x=—land x=1 | (b) x=1land x=0
(c) x=—land x=0 (d) No stationary values
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@elGan® elombsenien (a), (b), (¢) wpmb (d) erel QUUALLLL L BelG el &6l
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L6t N5 .
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aloL welsgaar e  eng olols  sSrafoar, Db elamssralar  Gsd  Oaibg
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1. log,,(15) +log,, (20) @6t QUDIDTEMD

(a) 90 ()30 (©)10 (d) 20
-2 -4
2. p—3~x—p_—3 BDGE SIS
pXp
(@ p* (b) p~° ©p* d p
3. ——1—2=i4—+—B—+—£—2 & mwoworm 4, B,C G QUIILDT 6THIGST
x(x+1) x x+1 (x+1)
(@ A=1, B=-1, C=-1 (b) A=-1, B=-1, C=-1
(c) A=-1, B=1, C=1 (d 4=1, B=1, C=1



. log, (x)=1 UM X @6t QUULOTEND

(a) 9 (b)27 ()87 (d)81

5. a,f erd@uan x*+ px+1=0 eiimid SoaUTL o6 qpevitidsT Dpaayd whph p? <4; pe R
Sh&EalDd BmHLLIET

(a) a, B etaiiuenr Qo eTewr wppd &+ LB =—-p, af=1
(b) a, eraiuen Sbmed st WhPd af =1, a+L=p
(c) o, eteiuer Quoul eTemn wppd af =1, a+f=p

(d) o, B srauen Sbsmed eTam wppd a+ LS =-p, aff=1.

6. x>+ px+1=0 errmid SN LaT dpeoiissT o opmid [ sTeiledt ,—émg)@m E 8 APELHIGETTS
a
2 LW Foaum(H

(a) 2x2—x(p2-2)—1=0 (b) xz—x(pz—Z)—1=0

(c) x2+x(p2—2)+1=0 (d) xz—x(p2—2)+1:O

7. px’+qx+r=0 ereimmid ST LpaT apeviissT o ppib 3 sTafle eiTeL1(H eUEITELDDIET
Hemipiimentg

@ a+p=1 b) &’ +p=¢*2pr
P

1. 1_-q _p-4
(c)a+ﬂ - @ a-p 29

x=% WGD CUTS (1+3x)w Baig elfaled stavauataled &AL o mii

@7 (b) T4 © T d 7
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9. [x2+l) Beig) oMalsd o 6en x° DA GOEHD
X

(2) 180 (b) 360 (©)120 (d) 210

10. (1+i)25T56r@JLb b0 TN (PR b6 &n DD GUlp GULD

@ 2(cos%+isin%j (b) 2(003%—1‘5&1%)

‘(c) 2(cos%+isin%) (d) Z(COS—Z—-Fisin%)

11. P(z)c%bem@ &6l sufilUL SH60 WTSHTUIDIGOT ([T S eCeLaTamiems elsmad @ mile, Te

Q(;) Bement SMLTHELMBEHSDLILIGI, B z STELG! Z Genienl_L 2 L6 e

SBHCELMT D@ LD- y
A
P
(@) Yy (b) (=)
P
(2) 0
0 X
> X
o(z) o(z)
z A
© Vs ) (d) Y
Q(z\) P(z)
0 0 .
> X >
X
12. (+x+x)(1+x%) > 0 @yl
(@) —1<x wpmb 0<x<1 (b) 0<x<1
(€) X DT DHwTHG QoI 6TEITEEHESD (d x<-1wpgb x>1



o W““;w
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1—tan®2x .
13. —————" @eF Samag
1+tan?2x ane
(a) sin4x (b) cos4x (c) tan4x (d) sec4x

14. tan@ =t <pulanr cot36 @er GUKILDTEIID

1+£2 1-3¢° 1+3¢° 1-3¢
b) ——— c d
3 =3¢ ®) 31 © -1 S 3+

(2)

15. 0° @hen 90° Bheh G uls 0039:—\/1—5 sTeTEID SLOSTLITL Lo 6l &iay

(a) 60° (b) —60° (c) 120° (d) 135°
.| sin(x+6x)—sinx L
16. lim @DSHF ST OIG
6—0 §x
(a) sinx (b) cosx (c) —sinx (d) —cosx
. dy
17. y=2" 01 — =
y <%UJ6(H dx
(a) x2*" (b) 21In|x] (c) xIn2 (d) 2°In2
18. x =at® oppid y =2at ule %:
1 -1
(@ P ) (0) ¢ (d
0.+ =a® ayitar 2 -
dx
2
(@ -= (b) -2 © = ) =
y X ¥y 2a



20. y =cosec?x —cos? x <ule ?‘é:— =

(a) secx (b) tan x (© 0 (d) 2tanxsecx

21. (1,5) wipid (3,—4) eTeiiID Lsialasmen Gaama@n GG Lp 6l L ST

9 0 9a %a
(a) - (b) 5 ©) : (d) 5

22. (Zl,lj (ODEOID (tz,—) 6TETEID LisTTeNlEBemen B)emsmid@HD GHTGHTL o601 [HerD
tl t2

@ [(n—5,) (4 +1,)| ®) (1 +1,)|

© |(4,-,) () [(6~8) 1+ 4t

23. (a,O) WwHDID (O,b) 6TETEOID  LisiTaNEmeman ERemauéGLD GHITCHTL Lo MG ©& hiHE e
CBTGHTL 6T Ulp HEHDe0T

a b a b
(@) 5 (®) ; ©) —-b- d —;

24. (4,3) oo (a,b) eTataid LeTelaamem EeandGD CBTEHT L6l Lip AT 2 sTaen

(@) 2a—-b=5 (b) a—-2b=5 ) 2a+b=5 (d) a+2b=5

25. ax+by—c =0 eTaig@d GHICHT9MHG QFHGHSHSTEAID 2 DUSHHE L TEaD CFe0aID
CHTCHML Lo.60T FLOETLIT(H

@ ax+by=0 (b) bx—ay=0 () 2ax+by=0 (d) ax—by+c=0




&Loeum ()
(a) y=xcosa +sinx (b) y=xsina -cosa
(c) y=x+cosa+sina (d) y=x+sina—cosa

27. P3x-y-1=0 x—\/§y+1=0 STEID CHTCHTE®EHE L LU L Fn THEGHT 60D

(a) 30° (b) 60° (c) 45° (d) 90°

28. x* + 2 +2x+y—4=0 erngud o LsPpen (1,2) stengmd LsiieNulges AT eldE@iD
et Berb

(a) V5 (b) V6 ©7 (d) V11

29. x* +3* —2x -2y +1=0 ereiigid QI L HHeT OOWD OPHID 61

(@ (1,D) wpmol (b) (—=1,-Dwppio 1 (c) (1,-1)wbpd 1 (d) (-1,1) oppio 1

30. y=1 2x2 sTED ST Pevedbs LisTaiams
X
(@) x=-lwppox=1 (b) x=Twppox=0
(©)x=-lwppox=0 (d) PevevH® LsTallee E)e0m6L.

26. Lpbdpar 15 oL wglb (cosa,sina) staigyd Usials anL1oaybd GgeaID Gl B Ly 6T



FLoGTUT ()
(a) y=xcosa +sinx (b) y=xsina—cosa
(¢) y=x+cosa+sinax (d) y=x+sina—cosa

27. ﬁx—y—l =0 x—\/§y+1=0 6TETEnID CHTCHTHGEHE el UL L. Fn THGE 60D

(a) 30° (b) 60° (c) 45° (d) 90°

28. x> +)* +2x+y—4=0 erammid el LsHisn (1,2) sragmid ystaulausien GaTLe0&E@0
@eo_Lul L Bemd

(a) V5 (b) V6 V7 (d) V11

29. x>+ =2x—-2y+1=0 eTaligd 6UL L HEET eOOWID OPDID B 60T

(@ 1,D) wpmiol (b) (-1,-Dwpmid 1 (c) (1,-1)whpio 1 (d) (LD wpgo 1

30. y= 1 2x2 eTaTEnID SmiTleir Pemevdd Lisiemesen
+x
(@) x=-lwppox =1 (b) x=Twppox=0
(c)x=-1lwppgbx=0 (d) Pewevdd Usiallss EeLmeD.

26. Ulp SHe 1 & 2 oL WGHID (cosa,sina) 6TETEID UsiTeNd &n L&D Q60D GHITGHITL Lo 6T



